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ALPHA | T_ALPHA o ALPHA | T_ALPHA o
13.8% 4.76 0.000 8.2% 2.82 0.002
14.2% 4.75 0.000 9.4% 2.8 0.009
12.6% 4.67 0.000 9.1% 2.77 0.005
13.9% 4.65 0.000 7.8% 2.77 0.006
11.8% 4.34 0.000 7.4% 2.73 0.005
8.3% 4.21 0.000 6.4% 2.72 0.004
11.3% 4.15 0.000 7.3% 2.69 0.008
8.3% 4.11 0.000 11.0% 2.69 0.008
13.2% 4.02 0.000 2 9.0% 2.68 0.008
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BOOTSTRAP BOOTSTRAP

ALPHA | T_ALPHA - ALPHA | T_ALPHA o
15.2% 3.98 0.000 15.7% 2.66 0.010
7.9% 3.95 0.000 8.2% 2.66 0.014
9.1% 3.92 0.000 8.4% 2.66 0.006
9.8% 3.91 0.000 7.3% 2.62 0.014
9.2% 3.89 0.000 7.2% 2.6 0.015
13.6% 3.86 0.000 11.0% 2.59 0.015
10.7% 3.86 0.000 7.2% 2.54 0.010
9.1% 3.84 0.000 8.6% 2.53 0.021
12.6% 3.8 0.001 7. 7% 2.52 0.009
11.3% 3.78 0.000 6.4% 2.49 0
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